_ or um [l =X = = — =
[RU) 60O T &5 on ol #8 S 5T 5 F 2022 558298 (B)
INVIBHREFESBHSBESE WS
I o= 10 L0 s alo
Bés 15 = \ DI /N 2 I \E0 B pra—
A ﬂ'ﬁ&.mjﬂ. A =BT T — B Bt
TEEaX R 941 1,388 466 569 086 100 4,450
T HERRERIE 623 Q77 C i LE) 406 868 o7 3,306
) HMEEARAE 318 411 131 163 118 3 1,144
b fE 382 & &t 941 1,388 466 569 086 100 4,450
5 iy RS R g 66.2 % 703 % 719 % 713 % 88 % o7 % 742 %
wSG% GE5O 100 10 : 20 10 -850 9:35 O:56 10 185 S:05
BHBEEI A F W 1,030 1,670 547 550 1,200 100 5097
HETY DA INIAF/INF INTFIF WMETY HRETE T
JuL—F v+ (@) (BE) H—R JUL—F
MERBET L —
(1))
oI —=IN—DF v R 21 22 23 24 25 26
2 5352 DU S IFHDOSZY | AEBIERME ARG YU—-2ZU AVAI | ¥YYavYRIS
o= &4 X ©370v0 | €4 770vD JL— L\ JN—722 A=F1I—A




